WORKSHEET
DISCUSSION SECTION 3
DUE 4/22 AT MIDNIGHT PDT

P - ~
(1) Let P be the plane that contains the points (1,0,0), (0,2,0), and (0,0, 3).
(a) Find two vectors @ and ¢ that are tangent (parallel) to P.
(b) Use the cross product to find a normal (perpendicular) vector to P.
(c) Find an equation for P.

(d) Is the point (1,2,3) in P? Why or why not?
__.(2) Let ¢ be the line parametrized by
(1,2,3) + s(4,5,6)
and let P be the plane with equation
T+ 2y +3z2=-—18.
Do the line ¢ and the plane P intersect? If so, find the point where they intersect. If

not, explain why.
(3) Let ¢ be the line parametrized by

(1,2,3) + s(4,5,6)
and let m be the line parametrized by
(14,17,20) +¢(1,1,1).
Do the lines ¢ and m intersect? If so, find the point where they intersect. If not,

explain why.
(4) Consider the elliptic cone
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in 3D space. Describe all of its zy, zz, and yz traces.
(5) Consider the cylinder without cld.ava.hj Hee egu.

y = sin(x)
in 3D space. Describe all of its xy, xz, and yz traces.
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